(T3 X37-\}| Multiplication, Addition & [Name:
wield 21 14383 Subtraction Problems [pate:

Find the answer to each problem using the order of operations.

8‘3X2= 2)(L|+3=

5""")(6-- L|+6x3=

3+2x8= q-Yyx2-=

6-2x2-= 8-1x0-=

3+9xH-= /x3-9-=




(T3 7.} | Multiplication, Addition & [Name:
Ll 3y, [33x3]| Subtraction Problems [oate:

Find the answer to each problem using the order of operations.

8-3x2=2

2x4H+3=I

5O+YHx6=29

H+ 6 x 3 =22

3+2x8=19

9-Yx2=1|

6-2x2=2

8-1x5=3

3+9x4=39

7x3-9=16




	MASOrderofOperations3
	MASOrderofOperations3TC

